> A
A & 0l & AF 2 E A A
20198 &= =0la LB H 2 M
A 2EEHI
M ST AEH Jlgtxd
&??: 8SE23EA 2N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E ot M 31,682,301 27,579,340 4,102,961
= 7,334,000
s 2,325,000
J| 1,757,498
< 2,604,653
Al 17,661,150
HEZATASHE JIgtx S 19,866,486 19,880,200 A13,714
= 3,300,000
s 2,325,000
J| 1,757,498
< 2,259,353
Al 10,224,635
HNEZSTA ZEXA 3,495,000 4,446,000 A951,000
s 1,725,000
Al 1,770,000
dx S A 2ENE 45,000 46,000 21,000
201 et 40,000 40,000 0
01 At 2teltl 40,000 40,000 0
o= HES23EAN EE 40,000
203 YR =&l 5,000 6,000 A 1,000
03 AIMHF=XH R =AH| 5,000 6,000 A 1,000
X HS2HHEA 88 =& 5,000
AMTEERITANZTH(HSRS B - HS € = 2,250,000 2,900,000 A 650,000
s 1,125,000
Al 1,125,000
201 Lt 20,000 0 20,000
s 10,000
Al 10,000
01 At 22l 20,000 0 20,000
odsEzs 2& - Hs & =4 20,000
s 10,000
Al 10,000
307 21201 A 2,230,000 2,900,000 A 670,000
s 1,115,000
Al 1,115,000
02 IS AHEL 2,230,000 2,900,000 A 670,000
Ors=Es 2 - s ¥ 54 2,230,000
as 1,115,000
Al 1,115,000
AMTEERSFTAZH (2SN 22X H) 1,200,000 1,000,000 200,000
s 600,000
Al 600,000
401 Al HIZ 201 I 1,200,000 1,000,000 200,000
s 600,000
Al 600,000




A 2EEHI
HM: ME2ITASHE It 4d
e MES3TA =LK (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 1,197,000 1,000,000 197,000
ONERIT A St H2aXx4H 1,197,000
Fag 598,500
Al 598,500
03 A& E2HH]| 3,000 0 3,000
ONSESI23IETA 2 H2AXH 3,000
Fag 1,500
Al 1,500
ANE23sd & X3 7,416,550 5,569,900 1,846,650
J| 1,757,498
== 334,353
Al 5,324,699
2HHE 2 H & =39 12,000 12,000 0
307 2Iz2t0| A 12,000 12,000 0
02 QIZHEAAIRE E X 12,000 12,000 0
OZ2tME 2Mst=3 9 12,000
23t 29 3,044,000 2,400,000 644,000
306 52 3,044,000 2,400,000 644,000
01 52 3,044,000 2,400,000 644,000
o2t &9 3,044,000
HdF 2SS A =4 800,000 0 800,000
306 542 800,000 0 800,000
o1 s 32 800,000 0 800,000
ONZFE 23EA =4 800,000
A20|s2 - g2 23ALY 92,054 87,000 5,054
o= 34,520
Al 57,534
307 212t0| & 92,054 87,000 5,054
o= 34,520
Al 57,534
02 QIZHE AAIE E X 92,054 87,000 5,054
OX20=& S3AY 78,720
= 29,520
Al 49,200
o&2e=22 2SAIY 13,334
= 5,000
Al 8,334
HF=25 & 126,000 123,000 3,000
307 QI2t0| ™ 126,000 123,000 3,000
02 QI2tAAMAIE E =X 45,000 45,000 0
ONE=Z23tE ALY XI& 45,000
03 QIZI X EHESIHIEX 81,000 78,000 3,000




AN 2E MM
dH: BSEIEANSHE JIgtx 4
©el: Xe2sss o AW CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Od=2sd 29 XA 81,000
HF=Z3d AEMH 7,500 0 7,500
405 XHoHE S HI 7,500 0 7,500
01 AL EZFHSHI 7,500 0 7,500
Od==3td Algiid 7,500
H=MS30 =30 47,000 48,900 21,900
307 21201 A 47,000 48,900 A 1,900
02 LAFAAFEX 47,000 48,900 21,900
OFF=HESZ0 d3UA 47,000
d==s HE 40,000 41,000 21,000
307 2201 A 40,000 41,000 21,000
02 It M AHE L 40,000 41,000 21,000
oxFs Y 40,000
HEE3 SHAMY X2 30,000 30,000 0
201 L2l 30,000 30,000 0
03 A2 Z Hl 30,000 30,000 0
OXHS=ZE3 SEAY X 30,000
S FsHs2B0SH 2,275,196 2,022,000 253,196
J| 1,649,960
< 187,571
Al 437,665
307 21201 A 2,275,196 2,022,000 253,196
J| 1,649,960
< 187,571
Al 437,665
02 HIAFAAFEX 2,275,196 2,022,000 253,196
osg=sosd NA 2,275,196
J| 1,649,960
< 187,571
Al 437,665
SISNAEE oAz d 478,800 501,000 A 22,200
J| 107,538
< 32,262
Al 339,000
307 gl2tol & 478,800 501,000 A 22,200
J| 107,538
= 32,262
Al 339,000
02 IZHE S AHE L 478,800 501,000 A22,200
OS2 E Or2tad3 478,800
J| 107,538
< 32,262
Al 339,000




AN 2E MM
M ST AEH Jlgtxd
©el: Xe2sss o AW CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
S=2SAMY 130,000 130,000 0
< 80,000
Al 50,000
307 gl2tol & 130,000 130,000 0
< 80,000
Al 50,000
02 It HAHE L 130,000 130,000 0
O==E&AY 130,000
< 80,000
Al 50,000
Olsd dAIE 22 25,000 25,000 0
201 L4 25,000 25,000 0
03 &AL2 Z I 25,000 25,000 0
O0lsg HANE X 22 25,000
== oLt = Dlzswa 9,000 0 9,000
307 21201 A 9,000 0 9,000
02 IAtFAAHEX 9,000 0 9,000
Otl==2 otLE = Olzna 9,000
SME0tE 2ENEE =4 300,000 0 300,000
401 AIEHI L 20 300,000 0 300,000
01 A& Bl 300,000 0 300,000
o&tdits 2 ANdH =4 300,000
ZAE2Y 2el 8,954,936 9,864,300 A 909,364
= 3,300,000
s 600,000
< 1,925,000
Al 3,129,936
=232y Y2t E 580,550 478,000 102,550
307 glz2tol & 580,550 478,000 102,550
05 RIZIRI & 3 580,550 478,000 102,550
OHFA 232d 2 580,550
=& AEMH 10,000 10,000 0
405 RHoHE S HI 10,000 10,000 0
01 et EFSFHSHI 10,000 10,000 0
Oo=sod =5+Y 2,000,000& =54 A~ 10,000
SHNsHESY 2L (2 NHAEXR) 65,000 0 65,000
307 21201 A 65,000 0 65,000
02 QB AAHEX 65,000 0 65,000
oO3dlz=ds32t 2 65,000
N2dE 2ot32t Alg2te ¥ 22 76,000 76,000 0




PN 2 Y
M ST AEH Jlgtxd
ool ALY 22 (B9 ®R)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
201 ¢er24| 71,000 71,000 0
02 =224l 71,000 71,000 0
OXN2MHE2S2t Ald2te & 29 71,000
405 RHoHE S HI 5,000 5,000 0
01 AL EFFHSHI 5,000 5,000 0
ONSMERHTYA ALR2 U 2Y
1,000,000 «5J4 & 5,000
FH0=32 24 22,000 12,000 10,000
201 Let24E] 22,000 12,000 10,000
01 At 22l 2,000 2,000 0
ox¥xMss2t 29 2,000
02 =24l 20,000 10,000 10,000
ox¥zus32t 29 20,000
EZ3AIE e 122,000 137,000 A 15,000
203 YR =&l 12,000 12,000 0
03 AIHF=XH R =AH| 12,000 12,000 0
OZStAIEME g2=2 12,000
401 A& HIZ 2018 110,000 125,000 A 15,000
01 A& HI 110,000 125,000 A 15,000
O=23AIE e 110,000
AHCR - HAHAE 23THMH AL 262,386 800,000 Ab537,614
401 AIEHI L 2 CHYI 262,386 800,000 AbB37,614
01 A& HI 262,386 800,000 AbB37,614
OHAMSAIE SSHTHMAIG (B&Z) 262,386
A= IS 2UHGAIIE2 HE 1,084,000 2,174,000 A 1,090,000
= 500,000
< 292,000
Al 292,000
402 2I2H X201 M 1,084,000 2,174,000 A 1,090,000
= 500,000
< 292,000
Al 292,000
02 QIZE 2 A EZ (01X THS) 1,084,000 2,174,000 A 1,090,000
Oz IS ZUHIAMIIE2 HE 1,084,000
= 500,000
< 292,000
Al 292,000
A= XGXNAX MAESS 8 HE 4,433,000 4,350,000 83,000
= 2,800,000
< 1,633,000
402 RIZ2EX201 A 4,433,000 4,350,000 83,000




A 2EEHI
HM: ME2ITASHE It 4d
CHR: SSIAE2E 22l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 2,800,000
& 1,633,000
02 BIZtXIEANYEX(0OIETHH) 4,433,000 4,350,000 83,000
O&d= XEXNAEX MAHBIS MY 2HE 4,433,000
= 2,800,000
= 1,633,000
D LERMA 2IAIERF ZHEAY 800,000 1,800,000 A 1,000,000
401 Al HI L 2 0HHI 800,000 1,800,000 A 1,000,000
01 Al& H| 798,500 1,800,000 A 1,001,500
O=2TLRERNME SIIANEXNT LA 798,500
03 AlE 201 | 1,500 0 1,500
O=ZELRE RN 23AIEXF ZEAMY 1,500
HNELF}XNEXNK(DIHE2 0l Z2HE AHE) 1,500,000 0 1,500,000
g 600,000
Al 900,000
401 AlEHIZL £ 0HY| 1,500,000 0 1,500,000
Fag 600,000
Al 900,000
01 Al& B 1,456,500 0 1,456,500
ONIg&E=2 0fqZB2HE 2HE 1,456,500
Fag 600,000
Al 856,500
02 2teld| 40,000 0 40,000
O0IEZE=2 A ZBAHZE HE 40,000
03 Al 20| 3,500 0 3,500
OOIY &= OlABHE HE 3,500
2stolzs &4 1,713,500 1,771,900 A 58,400
= 84,000
o= 165,300
Al 1,464,200
S SIS ALXI & 1,613,500 1,672,900 A 59,400
= 84,000
& 165,300
Al 1,364,200
=2 Stz UsAME 8,100 0 8,100
307 QI2t0| ™ 8,100 0 8,100
02 A2t AMAIE E X 8,100 0 8,100
O=2U 25tz UsAMY 8,100
2 E3=FH 9,000 8,800 200
307 2Iz2t0| & 9,000 8,800 200
02 QIZHE AAIE E X 9,000 8,800 200
o0& 23 9,000




AN 2E MM
M 2oz 84
& 2SEAXE CEE-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
24 0/0k7] 7,000 0 7,000
307 gl2tol & 7,000 0 7,000
02 It M AHE L 7,000 0 7,000
O©Z240l0kII 7,000
HEE =28 825 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALALH 2 = 5,000 5,000 0
oH:EE =28 dS=Ea=H 5,000
gUM4E dAIS S 3,000 3,000 0
307 21201 A 3,000 3,000 0
02 QB AAGFEX 3,000 3,000 0
Oglatd dAS 23 3,000
Hetels #3449 EZEIRA 8,500 8,500 0
307 21201 A 8,500 8,500 0
04 QIZFHALAIR B = 8,500 8,500 0
o= dAH EREIRA 8,500
CHetel= A ZuUd 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
02 PIZHEHAHE L 15,000 15,000 0
OUe 2= azuHH 15,000
OtAIOH E3t S=H 20,000 0
307 glz2tol & 20,000 0
04 QIZFHALAIH E = 20,000 0
OS=0tAlOF B3t s=H 20,000
= ZAFAUS 11,000 ,000
307 21201 A 11,000 ,000
04 QIZFHALAIH B = 11,000 ,000
oZE &3 ZAFAUS 11,000
U= & KNEAS 51,000 ,500
< 15,300
Al 35,700
B2 I Y| 51,000 ,500
= 15,300
Al 35,700
HAHZ Sl 51,000 ,500
O23It A= & NE ALY 51,000
< 15,300
Al 35,700
e & NAEst2z20d 168,000 0
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AN 2E MM
M 2oz 84
Chel: S AKX (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= M AL 12,000 12,000 0
307 gl2tol & 12,000 12,000 0
04 DI2ZHHALALSE E X 12,000 12,000 0
Od= 2 H A& 12,000
dE IH HAM=H 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
02 LIt HAMHEE 5,000 5,000 0
OdZF =M 0K 5,000
dF 80,000 80,000 0
307 21201 A 80,000 80,000 0
04 QIZFHALAIH B = 80,000 80,000 0
(OFSE= =) 80,000
= AL SHots HEFH 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIR B = 20,000 20,000 0
O&= ARl &Hot=s ASEH 20,000
dF AZ 25HA 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
O&=zF A2 Z3tH 20,000
d= Z22H 4,500 4,500 0
307 glz2tol & 4,500 4,500 0
02 It M AHEE 4,500 4,500 0
od= 2 4,500
H=UAIS=s0l d3203 300,000 300,000 0
< 150,000
Al 150,000
307 21201 A 300,000 300,000 0
< 150,000
Al 150,000
04 QIZFHALAIH B & 300,000 300,000 0
OEF=UAIS=0l =03 300,000
S 150,000
Al 150,000
HE230zs 2 MLFEA 25,600 20,000 5,600
307 gl2tol & 25,600 20,000 5,600
02 IZtE M AHE L 25,600 20,000 5,600
OXFE3llzs =HMUFEA 25,600
SF=AZH A= o123 1,500 1,500 0
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AN 2E MM
M 2oz 24
Chel: S AKX (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ost=0t2l Mot EIt =K 12,800
st=20te 24 Us 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
02 QIZtE M AHE X 20,000 0 20,000
osgt=0s U3 20,000
SAZ2 QUHE Za=H 3,000 3,000 0
307 21201 A 3,000 3,000 0
02 LAFAAFEX 3,000 3,000 0
OE4dz T 2=H 3,000
FaM=tH 4 KA 100,000 99,000 1,000
== H 50,000 50,000 0
307 21201 A 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
O&F0=H 50,000
=03 22X 40,000 40,000 0
307 glz2tol & 40,000 40,000 0
03 BIAHMNHE2IHIEE 40,000 40,000 0
OXFME 2SN 40,000
d=00HE 2EX & 10,000 9,000 1,000
307 glz2+ol & 10,000 9,000 1,000
03 QIAHMNHE2IHIEE 10,000 9,000 1,000
od=2HE S 10,000
ot aaty Jlgtx o 9,358,500 5,127,600 4,230,900
= 3,950,000
< 180,000
Al 5,228,500
=it SHRA 9,358,500 5,127,600 4,230,900
= 3,950,000
< 180,000
Al 5,228,500
d==HGSH K= 3,380,000 2,770,000 610,000
< 180,000
Al 3,200,000
307 21201 A 3,380,000 2,770,000 610,000
< 180,000
Al 3,200,000
02 QIAHFAAHFEX 3,380,000 2,770,000 610,000
O&==HIatH N 3,380,000
= 180,000
Al 3,200,000




AN 2E MM
HE: dsgase JBEs
el MEHSMY SHTE (ol @)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
gdot(gasE) 2/ XN 418,600 423,600 25,000
307 gl2tol & 418,600 423,600 25,000
02 It M AHE L 80,000 80,000 0
OZs(gas) 2921 N 80,000
03 QIAHMNHE2IHIEE 338,600 343,600 A5,000
ogsH(gaE) 2ER X 338,600
H=ARDICIHEEH XA 96,900 92,000 4,900
307 giz2tol & 96,900 92,000 4,900
02 LAFLAFEX 40,000 40,000 0
OF=AQDICIHAEH XA 40,000
03 BIAHNHE2IHIEL 56,900 52,000 4,900
OEFAOICIHEEH K& 56,900
FOAUOIAZ 2Y 12,000 12,000 0
308 XXM SO A 12,000 12,000 0
07 IXNSHH2AURE = 12,000 12,000 0
FAUOIAE 29 12,000
dFOTZHEQN 29 133,000 140,000 A7,000
307 21201 A 133,000 140,000 A7,000
02 IAHFAAFEX 133,000 140,000 A7,000
ON=EZZRENN 2 133,000
=gdgst #d s At 64,000 50,000 14,000
402 2I2H X201 A 64,000 50,000 14,000
01 2I2E 2 A B (KM ) 64,000 50,000 14,000
Osgda & s A 64,000
dX Aot EE |FAALAE A= 220,000 170,000 50,000
402 RI2EX=20l A 220,000 170,000 50,000
01 2IZEH 2 A B (KM ) 220,000 170,000 50,000
Od= AlUIMEIE & XN& 220,000
=L EEgEIL 29 402,000 395,000 7,000
201 Let2d] 5,000 5,000 0
02 =224l 5,000 5,000 0
Od=dsasegada 2 5,000
307 gl2tol & 397,000 390,000 7,000
05 BIZERI & 3 397,000 390,000 7,000
Od=daEzgzda 29 397,000
=&AL 29 455,000 455,000 0
201 LB-2E | 5,000 5,000 0




2N
X ZH -
L= B

el

02 02 0
0z 2
> e

ton

- =

19 19

= ot

Jetxd

O~

S4XH

02 MO
44 toi ton

SA-3H-S(3AH) - MRAS - BES Off &t 24 %Ei Hns2
02 3324l 5,000 5,000 0
OXdF=HSMEAL 2 5,000
307 glztol & 450,000 450,000 0
05 It E = 450,000 450,000 0
Od=datMHL 29 450,000
SEOAHEARTOR 2 95,000 95,000 0
306 £ = 95,000 95,000 0
01 £ = 95,000 95,000 0
OX=SeltAHY AFRLUL 24 95,000
SEMAHEASOUR == Zdl wH 120,000 0 120,000
306 £ = 120,000 0 120,000
01 £¢= 120,000 0 120,000
OSSMAHEAFLUR == 4l uH 120,000
d=F =Sgdsty g A8 3,950,000 500,000 3,450,000
= 3,950,000
401 AIEBIZ 20 3,950,000 500,000 3,450,000
= 3,950,000
01 A€ dl 3,950,000 500,000 3,450,000
o= =gdso & A8 3,950,000
= 3,950,000
g & ool BieE 2EIIx=/IASE 5,000 0 5,000
307 glztol & 5,000 0 5,000
02 It HAMAEE 5,000 0 5,000
OFFJNx /38 22 5,000
d=SIOIES A 7,000 0 7,000
307 21201 & 7,000 0 7,000
02 B HANEEX 7,000 0 7,000
OJN=EZaH =& 7,000
HY2IZH (2SE D) 743,815 799,640 A 55,825
lHE2HHI (258 20t 653,891 706,700 A 52,809
dH2HH(2aE ) 653,891 706,700 A 52,809
101 1A dl 653,891 706,700 A 52,809
01 2= 653,891 706,700 A 52,809
OAZteZ2R=Y 635,455
@52 13,3683 x2H «50A| 2+ 12 16,042
6= 11,4013 312 #50A1 2+ x12& 212,059
o= 10,2993 *37 H «50A| 2+ x12& 228,638
{ X= 9,2463 »22B »50A| 2tx 128 122,048
0o:= 8,357 & x7H +50A| 2t+ 128 35,100
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M 28YHD
M. HMSAAH (S}HE M)
Crol: ol syl (28R M) CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O2HYE L AlIZA A2 10,006
-62 11,4013 x5 x10A| 2t +8& 4,561
-3 10,299& x4 x10A| 2+ 8L 3,296
-82 9,246& x2H *10A| 2t +8& 1,480
-93 8,357 x1H+10A| 2+ 8L 669
ONHRNMEH(EL2REE)
642,322,592& *1.8% 11,562
oxsgaze=4g 18,436
@St=0t=2 18,436
-62 91,6483 x4Y 12 x12& 4,400
-72 82,7863 x9Y x 1A x12& 8,941
-82 74,3203 *3H x 1L« 128 2,676
-92 67,1803 *3Y x1 U x12& 2,419
Jl2dd (23 =) 89,924 92,940 N3,016
2zt (23 ) 89,924 92,940 N3,016
201 LEt2 Y| 44,144 45,480 N 1,336
01 At 2t 2l Yl 42,144 43,480 A 1,336
O Y2 H| 21,000
o994 3,000
O=&H| 18,144
02 3524t 2,000 2,000 0
o332= % HA 2,000
202 04| 38,280 39,960 A 1,680
01 2LHOHI 38,280 39,960 A 1,680
OJI2gRF=&A| 38,280
203 & R =&H| 7,500 7,500 0
01 J|22H L RF=AH| 3,300 3,300 0
O23&HHNEZT=H 3,300
04 ENSIHRF=EY| 4,200 4,200 0
ORN2IIRF&Y| 350,000& x12& 4,200




